2017/11/12 G=7 OW 7% REUH—FK

24 L FNELEILTO - TII VIR FEFHE
= 15 METILY o

& M GZ7OW 7w RAEVHA—FR

H i 2017/11/12

sobokrkkkk [ HEIREE ] sbkrrkk

No. 1 2 3 4 5 7 &5 #HIFE
E F 4 W WwWwwwWww &5z
27 %MW FEF * * % 3 4P
85 fk”RK R=F * 1 11
114 FiE 2LF * * * 3 4P
129 MR Eth * * 2 8
145 it GEF * 111
166 ;H/KME #&F * ok * 3 4P
171 BBig  FH— * % * 3 4P
183 HiF FiL * * x x x 5 2P
185 & K * ok * ok 4 3P
191 &% BT * * 2 8
198 /N SHF ¥ % % x k x 6 1P
207 J\I & HF * Kk 2 8
211 58 3k * 11
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NO. E F A4 1 2 3 4 5 T JEfL
2 B Waltz
27 #H IEF 7 6 4 2 3 6 6.0
114 Rk 2LF 3 2 5 6 6 2 4.0
166 H/KIME #EF 5 1 7 5 7 4 50
171 Bk #— 6 4 6 7 4 T 10
183 Al HFR 13 2 3 1 3 20
185 & K¥ 4 7 3 4 5 5 3.0
198 /hE SHF 2 5 1 1 2 1 1.0
No. #E F % W &Ft IEfs
27 #H IEF 6.0 6.0 6.0
114 Rk 2LF 40 40 4.0
166 E/KIME #EF 50 50 50
171 Bk #— 7.0 7.0 7.0
183 Al FK 20 2.0 20
185 B KF 3.0 3.0 3.0
198 /hE SHF 1.0 1.0 1.0
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4 B35 B5h
5 BH EE
7 RZE &%
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EEE ERBE R E F K % IN—FrF—4 #
27 11050270 G #H IEF 2K #EEHR R
85 11050850 G k4K RX=IF mER MR B
114 11051140 G ##& #LF BNl = E
129 11051290 G /Mz {Et Bl F& B
145 11051450 G &t &F = W R
166 11031660 G ;E/KME #EF /e tEz B
171 11031710 G HEE H— BhE ETF E
183 11041830 G &IF Fit Kig xmh B
185 11041850 G & K¥ AH I 3
191 11041910 G EH BHF gitkE  #|dh R
198 11041980 G /hE SHF =H M R
207 11062070 G /\3¥ HF [icp A B
211 11062110 G 5% 4 % HWBF 3
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